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23MAT101 –MATRICES AND CALCULUS  

UNIT I – MATRIX EIGEN VALUE PROBLEMS 

 

PART B QUESTIONS 

 

 

1. 
Determine the Eigen values and Eigen vectors of 

















−−

−

−−

021

612

322

 

   

 

2. 
Determine the Eigen values and Eigen vectors of  

















113

151

311

  

 

 

3. Find the Eigen values and Eigen vectors of  

















−

−−

−

342

476

268

   

 

4. Find the Eigen values and Eigen vectors of  

















−−−

−

121

016

121

   

 

 

5. Find the Eigen values and Eigen vectors of  
















221

131

122

   

 

6. 

 
Verify Cayley-Hamilton theorem for the matrix

















−

−

−

122

212

121

  and    compute A
4
 and A

-1 
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7. 
Verify Cayley-Hamilton theorem for the matrix

















−

−−

−

211

121

112

  and compute A
-1

   

8. 

 
Find the Characteristic equation of the matrix 
















=

211

010

112

A
 and hence find the matrix 

represented by IAAAAAAAA +−+−+−+− 285375 2345678
 

 

 

 

9. 
Using Cayley-Hamilton theorem for the matrix

















121

324

731

  and compute A
-1

   

10. 

Using Cayley-Hamilton theorem , find the inverse of the matrix  
















−

−

=

803

718

301

A   

 


